i 2 =X
2LUXHA vl nf E=OIE
(HHLo|E= 0|28t EX)
¢ HE scorelilAM H{20|F score AbA|7} HY
o] X glA0| FAgh
score == &score[0]
xrscore == scorel[0]

¢ HJ|20|= scoreE 0|2510] 2= Hj2A

o 2t FIA0| FAZE BE ThS

< ZHHQ1AK} O] =
score, score+i : A9 FEAo
*gcore, *(score+i) : 4
score[0], scoreli] : &
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(array.c)

rZ74 71k

#define SIZE 3 H.LWH OI__IJ\Ol AN
int main(void) {
int score[] = { 89, 98, 76 };

#include <stdio.h> [ 0|2 score= A

printf("score: %p, &score[0]: %pWn",
score, &score[0]);

printf"HAH  F4&  MEwn);
for (inti = 0; 1 < SIZE; i++)

| score: 001BFCB8, &score[0]:

L=-"11

001BFCBS8

*score: 89, score[0]: 89
A =& MEU
O OO1BFCBS8 89
1 001BFCBC 98
2 OO1BFCCO 76

alalaVl'la\ Tl ol al'la

printf("*score: %d, score[0]: %dWnWn", *

printf("%2d %10p %6dWn", i, (score + i), *(score + i));

H{ 20| £ scoreE At
return O; j Z=AQl QA Zb At

4 ofo
rot
———/
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XPIE] HyS 0|3t HE2] AL HE

(ptrtoary.c) A aH
#include <stdio.h> a 3 J6 8
int main(void) { 1 36 8
Int "pa = a; %3P H{E A0 E2 13638
JNE MOISH ZOIE| HAE AL 7

printf("%d %d %d %d¥n", *(pa), *(pa + 1), *(pa + 2), *(pa + 3));
/JME Motd ZOIE| Mg HHOE“'FJ 0| AR 7hs
printf("%d %d %d %d¥#n", pa[0], pa[1], pal[2], pal3]);

printf("%d %d %d %dW#n", a[0], a[1], a[2], a[3]);
printf("%d %d %d %dWn¥#n", *a, *(@ + 1), *(@ + 2), *(@ + ))'

return 0; EEREN RS
} L Its
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EOIE| #14:0| HA|X

SitH S}

O b b

((char *)& (int *)2 W&l ptypecast.c)

#include <stdio.h>

int main(void) {

char c[4] = {'A', 'WO', 'W0', "W0'}; //=AI'A' 2 EZ}: 65

[Z 1
65 A
65 A

int *pi = (int *)&c[0];

printf("%d %c¥n", (int)c[0], c[O]);

AR HES TR
op Zm g

printf("%d %c¥n", *pi, (char)*pi);

return O;
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\ 4
\ 4

O|xHH HHZEOIAM HHEO|S

O|x& HHIO0)A] HHIO|F 2! td

< HHHO|ZI td= EQIE{2| ZEQ2IE{2I 0|= FELIE]

int td[1[3] = {{8, 5, 4}, {2, 7, 6}};

< HIHO|F td= O|XIA HHHE = CFESl= 0|5 ZEQIE]

<+ sizeof(td)= HHE X H|2| HIO|E I |E dtel

X EIJ%‘-OIE tdE 0|&235}0{ Bi= td[0][0]2] ZiS 2022

T O
= rid = 205 /] td7} O|= EZCIE{o|=2 2 ZHH MK} 0] 27

< tdlil= (i+1) Huj S22 &
= (i+1) Hu ol HS2 71217|= EQIE A=
<+ sizeof(td[0]) 2} sizeof(td[1])
22 5 gl o] OIS 37|19} & W Bel HO|E 2718

< =*td[1] == td[1][0]

*



Hiigd 2 =X
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(tdaryptr.c)

#include <stdio.h> (2 1H

#def!ne ROW 2 1010 10,555, 4 4 4,

#define COL 3 202020,777, 666,

int main(void) { 24 12 12
int td[}[COL] = {{8,5 41{2 7 6} 1} nocrrcas, 00CFFC88, 00CFFCY4
wtd = 10; //d0NI0] = 10; | 55 crrcgg 0OCFFCO4
*d[1] = 20; //td[11[0] = 20; '

for (inti =0, cnt =0;i < ROW; i++) {
for (intj = 0; j < COL; j++, cnt++) {

printf("%d %d %d, ", *(*td + cnt), *(td[i] + j), *(*(td + 1) + )));
} [ td7} 25 ZQIE{0|E 2 ]

printf("#n"); 25|90 ZHHE X E fjof
} 2 H|O|E{ 7} LI,
printf("%d, %d, %dW#n", sizeof(td), sizeof(td[0]), sizeof(td[1]));
printf("%p, %p, %pWn", td, td[0], td[1]);
printf("%p, %pn", &td[0][0], &td[1][0]);
return O;
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EOIE{ i (array of pointer)

¢ XOIEE Y AL E 6= HI Y
inta=5,b=6,c=7;

int *pal[3];

pal0] = &a; pal1] = &b pal[2]=&c;

double *pdal[5] = { NULL };
/| 2= HIE A0 NULL 271 ME

[x86(32hit) 22 %8st Zu}]

a[ 0]=6028520 a[1]=6028528 a2 ]=602

p1=6028520 p1+1=6028528

p2=6028492 p2+1=6028496
*p2=6028520 = (p2+1)=6028528
p (p241) =

#include <stdio.h>
int main(void) {

return 0O;

int al3][2] = { {1,2}, {3,4}, {5,6} }; p2 1 71 A o}
int (xp1)[2] = a; a2 ot AHO| LI=.
int *p2[2] = { a[0], a[1] };

printf("a[0]=%u a[1]=%u a[2]=%utn",

a
pl + 1);
) ;
(p

(
printf("p1=%u p1+1=%un", pl,
printf("p2=%u p2+1=%utn", p2, p2 + 1
printf("*p2=%u *(p2+1)=%uttn", =

[0], al1], al2]);

*

2+1));
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(pointerarray.c )

#define CRT_SECURE_NO_WARNINGS
#include <stdio.h>
#define SIZE 3

int main(void) {
int *pary[SIZE] = { NULL };
inta =10, b = 20, c = 30;

pary[0] = &a; pary[1] = &b; pary[2] = &¢;
for (inti = 0;i < SIZE; i++)
printf("*pary[%d] = %dWn", i, *paryli]);
for (inti = 0;i < SIZE; i++) {
scanf("%d", paryli]);
printf("%d, %d, %dWn", a, b, c);
}

return O;

[Z1}]
*pary[0] = 10
*pary[1] = 20
*pary[2] = 30
1

1, 20, 30

2

1,2, 30

3

1,2, 3
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Hied EOQIE{(pointer to array)

intall] ={8, 28 1,3}
int *p = a;

printf( "%02d, %02d¥n", *(p+1), *(p+4) );
printf( "%02d, %02d¥n", p[0], p[4] );
printf( “%02d, %02d¥#n", sizeof(a), sizeof(p) );

¢ HJAEO|S a

< EOIE| M= (CIE FAUS 71 = I2.) (a++ EEE ++a HAS
= =I7h:>)
RS S|zeof(a)" Hj2io| = HIO|E 7|2l 20 = (5*4)
¢ H=p

AA
% sizeof(p)2 EkE5| EOQIE|Q| 37|91 4
o ZEA
< p2ta 25 Y ao| A 29| FLUSE 71
o =

< alilet Z0] plil=2 HHE a2| =2




b 7 =X

TEETPNEE L

P RPN L
sizeof (H{220[|5) / sizeof (HL A 4L)
» intarr[]l = {1, 2, 3};
int count = sizeof(arr) / sizeof(arr[0]);

L 4

o mo
o

<

L)

)

\ 4

O| Xl HHIS| sHe| &~ 517

<+ sizeof(a) / sizeof(al[0])

¢ O|XIA Hje| ¢do| = A5|7]|

<+ sizeof(al[0]) / sizeof(a[0][0])



b 7 =X

1ZH3, 2213 HIZ2| HIE37] 23

(arraysize.c)

#include <stdio.h>
iInt main(void) {
int data[] ={3,4,5,7, 9}
printf("%d %dWn", sizeof(data), sizeof(data[0]));
printf(" 2 AR B D: B{E 37| == %d#n",
sizeof(data) / sizeof(data[0]));
double x[1[3]1 = {{1,2,3}{7,8 9}{4, 5 6}{10, 11,12} };
printf("%d %d %d¥#n", sizeof(x), sizeof(x[0]), sizeof(x[0][0]));
int rowcount = sizeof(x) / sizeof(x[0]);
int colcount = sizeof(x[0]) / sizeof(x[0][0]);

printf("O| Xt HYE: W= == %d E == %dWn", rowcount, colcount);
printf("O|Xt& H{E: TN A& 5= == %dWn", sizeof(x) / sizeof(x[0][0]));
return O; (210
} 20 4
UK HYE: HfE 27| ==
96 24 8
O|Xt& HHE: W= ==4 E= ==3
O|X}& H L. MN A = ==12




